	1	Project Wo	rk Order			Highrise				
	From	-	To 11/10/2024							
FASK	Qty	Rate	Amount	Retaintion %	Specifications					
GREENWOOD ASPIRE EXP										
WO No 69 WO Date	11/02/2021	Irfan Abdul								
B 101 COLOUR WORK LABOR FOR CEILING PUNNING V	V <u>1,500.00</u>	22.00	33,000.00	5.00						
B 102 COLOUR WORK LABOR FOR CEILING PUNNING V	V <u>1,500.00</u>	22.00	33,000.00	<u> 5.00 </u>						
TOWER B 1ST FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING V	V <u>410.00</u>	22.00	9,020.00	5.00						
B 201 COLOUR WORK LABOR FOR CEILING PUNNING V	V <u>1,500.00</u>	22.00	33,000.00	5.00						
B 202 COLOUR WORK LABOR FOR CEILING PUNNING V	V <u>1,500.00</u>	22.00	33,000.00	5.00						
TOWER B 2ND FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING V	V <u>410.00</u>	22.00	9,020.00	5.00						
B 301 COLOUR WORK LABOR FOR CEILING PUNNING V	V <u>1,500.00</u>	22.00	33,000.00	5.00						
B 302 COLOUR WORK LABOR FOR CEILING PUNNING V	V <u>1,500.00</u>	22.00	33,000.00	<u>5.00</u>						
TOWER B 3RD FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING V	v <u>410.00</u>	22.00	9,020.00	5.00						
B 401 COLOUR WORK LABOR FOR CEILING PUNNING V	V <u>1,500.00</u>	22.00	33,000.00	5.00						
B 402 COLOUR WORK LABOR FOR CEILING PUNNING V	V <u>1,500.00</u>	22.00	33,000.00	5.00						
TOWER B 4TH FLOOR COMMON PAINT & COLOR WORK										
10/10/2024						1				

Г

TASK	Qty	Rate	Amount	Retaintion %	Specifications
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
B 501 COLOUR WORK					
LABOR FOR CEILING PUNNING W	<u>1,500.00</u>	22.00	33,000.00	5.00	
B 502 COLOUR WORK					
LABOR FOR CEILING PUNNING W	<u>1,500.00</u>	22.00	33,000.00	5.00	
TOWER B 5TH FLOOR COMMON					
PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
B 601 COLOUR WORK					
LABOR FOR CEILING PUNNING W	<u>1,500.00</u>	22.00	33,000.00	5.00	
B 602 COLOUR WORK	1 500 00	22.00	22,000,00	5.00	
LABOR FOR CEILING PUNNING W	<u>1,500.00</u>	22.00	33,000.00	5.00	
TOWER B 6TH FLOOR COMMON PAINT & COLOR WORK					
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
B 701 COLOUR WORK					
LABOR FOR CEILING PUNNING W	<u>1,500.00</u>	22.00	33,000.00	5.00	
B 702 COLOUR WORK LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	5.00	
LABOR FOR CEILING FUNNING W	<u>1,500.00</u>			<u> </u>	
TOWER B 7TH FLOOR COMMON PAINT & COLOR WORK					
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
B 801 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
B 802 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER B 8TH FLOOR COMMON PAINT & COLOR WORK					
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
B 901 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
10/10/2024					2
10/10/2021					2

TASK	Qty	Rate	Amount	Retaintion %	Specifications
B 902 COLOUR WORK PUNNING					
WORK					
LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER B 9TH FLOOR COMMON					
PAINT & COLOR WORK	410.00	22.00	0.020.00	5.00	
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	<u>5.00</u>	
B 1001 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
	250.00		<u></u>	<u> </u>	
B 1002 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER B 10TH FLOOR COMMON					
PAINT & COLOR WORK	410.00	22.00	0.000.00	5.00	
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
B 1101 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5 500 00	5.00	
LABOR FOR CEILING FUNNING W	250.00	22.00	5,500.00	5.00	
B 1102 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
LABOR FOR CELEINO FORMING W	250.00		<u> </u>		
TOWER B 11TH FLOOR COMMON					
PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	0.020.00	5.00	
LABOR FOR CEILING FUNNING W	410.00	22.00	9,020.00	5.00	
B 1201 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
	230.00		<u>-3,500.00</u>	<u> </u>	
B 1202 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER B 12TH FLOOR COMMON					
PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
			<u></u>	<u>- 2.00</u>	
B 1301 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
				<u>- 2.00</u>	

3

10/10/2024

TASK	Qty	Rate	Amount	Retaintion %	Specifications
B 1302 COLOUR WORK PUNNING					
WORK	0.50.00	22.00	5 500 00	- 00	
LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER B 13TH FLOOR COMMON					
PAINT & COLOR WORK	110.00	22.00	0.000	- 00	
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
B 1401 COLOUR WORK PUNNING					
WORK	• • • • •				
LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
B 1402 COLOUR WORK PUNNING					
WORK	• • • • •				
LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER B 14TH FLOOR COMMON					
PAINT & COLOR WORK	410.00	22.00	0.020.00	5.00	
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
B 1501 COLOUR WORK PUNNING					
WORK	250.00	22.00	5 500 00	5.00	
LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
B 1502 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
LABOR FOR CEILING FORMING W	230.00				
TOWER B 15TH FLOOR COMMON					
PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
	410.00		<u></u>	<u> </u>	
B 1601 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
B 1602 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER B 16TH FLOOR COMMON					
PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
	<u> 10.00</u>		7,020.00	<u> </u>	
B 1701 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
	230.00		<u></u>	<u> </u>	

ГАSK	Qty	Rate	Amount	Retaintion %	Specifications
B 1702 COLOUR WORK PUNNING					
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
LABOR FOR CEREING FORMING W	250.00		<u></u>	<u></u>	
TOWER B 17TH FLOOR COMMON					
PAINT & COLOR WORK					
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
D 1901 COLOUR WORK NUNNING					
B 1801 COLOUR WORK PUNNING WORK					
LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	5.00	
B 1802 COLOUR WORK PUNNING					
WORK	1 -00 00				
LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	5.00	
TOWER B 18TH FLOOR COMMON					
PAINT & COLOR WORK					
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
B 1901 COLOUR WORK					
LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	5.00	
B 1902 COLOUR WORK					
LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	5.00	
TOWER B 19TH FLOOR COMMON					
PAINT & COLOR WORK					
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
TOWER D TERRACE, COMMON					
TOWER B TERRACE COMMON PAINT & COLOR WORK					
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 101 COLOUR WORK					
LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	5.00	
C 102 COLOUR WORK					
LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	5.00	
TOWER C 1ST FLOOR COMMON					
PAINT & COLOR WORK					
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 201 COLOUR WORK LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	5.00	
	1,500.00			<u></u>	

ГАSK	Qty	Rate	Amount	Retaintion %	Specifications
C 202 COLOUR WORK LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	<u>5.00</u>	
TOWER C 2ND FLOORCOMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 301 COLOUR WORK LABOR FOR CEILING PUNNING W	1,500.00	_22.00	33,000.00	5.00	
C 302 COLOUR WORK LABOR FOR CEILING PUNNING W	<u>1,500.00</u>	22.00	33,000.00	5.00	
TOWER C 3RD FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 401 COLOUR WORK LABOR FOR CEILING PUNNING W	<u>1,500.00</u>	_22.00	33,000.00	5.00	
C 402 COLOUR WORK LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	5.00	
TOWER C 4TH FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 501 COLOUR WORK LABOR FOR CEILING PUNNING W	<u>1,500.00</u>	22.00	33,000.00	5.00	
C 502 COLOUR WORK LABOR FOR CEILING PUNNING W	<u>1,500.00</u>	22.00	33,000.00	5.00	
TOWER C 5TH FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 601 COLOUR WORK LABOR FOR CEILING PUNNING W	<u>1,500.00</u>	22.00	33,000.00	5.00	
C 602 COLOUR WORK LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	5.00	
TOWER C 6TH FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	

TASK	Qty	Rate	Amount	Retaintion %	Specifications
C 701 COLOUR WORK LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	5.00	
C 702 COLOUR WORK LABOR FOR CEILING PUNNING W	1,500.00	22.00	_33,000.00	5.00	
TOWER C 7TH FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9.020.00	5.00	
C 801 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	<u>5.00</u>	
C 802 COLOUR WORK PUNNING WORK					
LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER C 8TH FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 901 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
C 902 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER C 9TH FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9.020.00	5.00	
C 1001 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
C 1002 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5 500 00	5 00	
TOWER C 10TH FLOOR COMMON	<u>250.00</u>	22.00	5,500.00	5.00	
PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 1101 COLOUR WORK PUNNING WORK					
10/10/2024					7

ГАSK	Qty	Rate	Amount	Retaintion %	Specifications
LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
C 1102 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER C 11TH FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 1201 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	<u>5.00</u>	
C 1202 COLOUR WORK PUNNING WORK					
LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER C 12TH FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 1301 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
C 1302 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER C 13TH FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	_22.00_	9,020.00	<u>5.00</u>	
C 1401 COLOUR WORK PUNNING		<u></u>	<u></u>	<u></u>	
WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
C 1402 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER C 14TH FLOOR COMMON				<u>- 5.00</u>	
PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 1501 COLOUR WORK PUNNING WORK					
10/10/2024					8

ГАSK	Qty	Rate	Amount	Retaintion %	Specifications
LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
C 1502 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER C 15TH FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 1601 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
C 1602 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	<u>5,500.00</u>	5.00	
TOWER C 16TH FLOOR COMMON PAINT & COLOR WORK	230.00		3,200.00	<u></u>	
LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 1701 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
C 1702 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	250.00	22.00	5,500.00	5.00	
TOWER C 17TH FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 1801 COLOUR WORK PUNNING WORK				- 00	
LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	<u>5.00</u>	
C 1802 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	5.00	
TOWER C 18TH FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	5.00	
C 1901 COLOUR WORK PUNNING WORK					
10/10/2024					9

ГАSK	Qty	Rate	Amount	Retaintion %	Specifications
LABOR FOR CEILING PUNNING W	1,500.00	22.00	33,000.00	5.00	
C 1902 COLOUR WORK PUNNING WORK LABOR FOR CEILING PUNNING W	<u>1,500.00</u>	22.00	33,000.00	5.00	
TOWER C 19TH FLOOR COMMON PAINT & COLOR WORK LABOR FOR CEILING PUNNING W	410.00	22.00	9,020.00	<u>5.00</u>	
	Total WO A	mount	1,759,780.00		
WO No 349 WO Date	10/09/2023	Irfan Abdul			
COMMON MISCELLANEOUS WORK (BASEMENT) PUTTY WORK LABOR FOR CEILING PUNNING W	35,000.00	22.00	770,000.00	5.00	
	Total WO A	mount	770,000.00		
WO No 371 WO Date	20/10/2023	Irfan Abdul			
TOWER C 1ST FLOOR COMMON PUNNING WORK LABOR FOR GYPSUM CEILING (SC	250.00	55.00	13,750.00	5.00	
TOWER C 1ST FLOOR COMMON PUNNING WORK LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
TOWER C 2ND FLOOR COMMON PUNNING WORK LABOR FOR GYPSUM CEILING (S(250.00	55.00	13,750.00	_5.00	
TOWER C 2ND FLOOR COMMON PUNNING WORK LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
TOWER C 3RD FLOOR COMMON PUNNING WORK LABOR FOR GYPSUM CEILING (S(250.00	55.00	13,750.00	<u>5.00</u>	
TOWER C 3RD FLOOR COMMON PUNNING WORK LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
TOWER C 4TH FLOOR COMMON PUNNING WORK LABOR FOR GYPSUM CEILING (S(250.00	55.00	13,750.00	5.00	

ГАSK	Qty	Rate	Amount	Retaintion %	Specifications
TOWER C 4TH FLOOR COMMON					
PUNNING WORK	12.00	25.00	200.00	- 00	
LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
TOWER C 5TH FLOOR COMMON					
PUNNING WORK					
LABOR FOR GYPSUM CEILING (SC	250.00	55.00	13,750.00	5.00	
TOWER C 5TH FLOOR COMMON					
PUNNING WORK					
LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
TOWER C 6TH FLOOR COMMON					
PUNNING WORK					
LABOR FOR GYPSUM CEILING (SC	250.00	55.00	13,750.00	5.00	
TOWER C 6TH FLOOR COMMON					
PUNNING WORK					
LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
TOWER C 7TH FLOOR COMMON					
PUNNING WORK					
LABOR FOR GYPSUM CEILING (SC	250.00	55.00	13,750.00	5.00	
TOWER C 7TH FLOOR COMMON					
PUNNING WORK	12.00	25.00	200.00	- 00	
LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
TOWER C 8TH FLOOR COMMON					
PUNNING WORK	250.00	55.00	12 750 00	5.00	
LABOR FOR GYPSUM CEILING (SC	250.00	55.00	13,750.00	5.00	
TOWER C 8TH FLOOR COMMON					
PUNNING WORK LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
	12.00	25.00			
TOWER C 9TH FLOOR COMMON					
PUNNING WORK LABOR FOR GYPSUM CEILING (S(250.00	55.00	13,750.00	5.00	
LABORTOR OTTSOM CELLING (SC	230.00		15,750.00		
TOWER C 9TH FLOOR COMMON					
PUNNING WORK LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
	12.00	22.00	500.00	<u>- 5.00</u>	
TOWER C 10TH FLOOR COMMON					
PUNNING WORK LABOR FOR GYPSUM CEILING (S(250.00	55.00	13,750.00	5.00	

ГАSK	Qty	Rate	Amount	Retaintion %	Specifications
TOWER C 10TH FLOOR COMMON					
PUNNING WORK	12.00	25.00	200.00	5.00	
LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
TOWER C 11TH FLOOR COMMON					
PUNNING WORK		00			
LABOR FOR GYPSUM CEILING (SC	250.00	55.00	13,750.00	5.00	
TOWER C 11TH FLOOR COMMON					
PUNNING WORK					
LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
TOWER C 12TH FLOOR COMMON					
PUNNING WORK	• • • • • •	00			
LABOR FOR GYPSUM CEILING (SC	250.00	55.00	13,750.00	5.00	
TOWER C 12TH FLOOR COMMON					
PUNNING WORK	12.00	25.00	200.00	5.00	
LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
TOWER C 13TH FLOOR COMMON					
PUNNING WORK LABOR FOR GYPSUM CEILING (S(250.00	55.00	13,750.00	5.00	
LABOR FOR GIFSOM CEILING (SC	230.00	<u> </u>	13,750.00	<u> </u>	
TOWER C 13TH FLOOR COMMON					
PUNNING WORK LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
	12.00	25.00			
TOWER C 14TH FLOOR COMMON					
PUNNING WORK LABOR FOR GYPSUM CEILING (S(250.00	55.00	13,750.00	5.00	
LABORTOR GTTSOM CLILING (SC	230.00	<u> </u>	15,750.00	<u> </u>	
TOWER C 14TH FLOOR COMMON					
PUNNING WORK LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
			<u></u>	<u>-0.00</u>	
TOWER C 15TH FLOOR COMMON					
PUNNING WORK LABOR FOR GYPSUM CEILING (S(250.00	55.00	13,750.00	5.00	
	250.00		15,750.00	<u> </u>	
TOWER C 15TH FLOOR COMMON					
PUNNING WORK LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
	12:00				
TOWER C 16TH FLOOR COMMON					
PUNNING WORK LABOR FOR GYPSUM CEILING (S(250.00	55.00	13,750.00	5.00	

FASK	Qty	Rate	Amount	Retaintion %	Specifications
TOWER C 16TH FLOOR COMMON					
PUNNING WORK					
LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
TOWER C 17TH FLOOR COMMON					
PUNNING WORK					
LABOR FOR GYPSUM CEILING (SC	250.00	55.00	13,750.00	5.00	
TOWER C 17TH FLOOR COMMON					
PUNNING WORK					
LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
TOWER C 18TH FLOOR COMMON					
PUNNING WORK					
LABOR FOR GYPSUM CEILING (SC	250.00	55.00	13,750.00	5.00	
TOWER C 18TH FLOOR COMMON					
PUNNING WORK					
LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
TOWER C 19TH FLOOR COMMON					
PUNNING WORK					
LABOR FOR GYPSUM CEILING (SC	250.00	55.00	13,750.00	5.00	
TOWER C 19TH FLOOR COMMON					
PUNNING WORK					
LABOR FOR LIGHT CUT OUT	12.00	25.00	300.00	5.00	
	Total WO Amount		266,950.00		
	Grand Total		2,796,730.00		